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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the answer on your answer sheet.

The reason I didn’t do well in my exams is that I just didn’t have ------v---- time to
prepare.
1) durable 2) cohesive 3) adequate 4) famous

Some people think the economy will improve soon, but many experts remain -----------
about this.

1) skeptical 2) favorable 3) available 4) psychographic

We have received letters of application from several ---------- candidates.

1) prospective 2) dramatic 3) previous 4) promotional

The television company has lost a large part of its ----------=m-- since it changed its
programming.

1) responsibility 2) audience 3) element 4) communication

The company needs to return to ----------- extremely soon.

1) profitability 2) procedure 3) limitation 4) differentiation
Vitamins should not be used as a ----------- for a healthy diet.

1) competition 2) strategy 3) substitute 4) development
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69-

College Board officials said that difficulties arise more from ------——---- than from ethnic
differences.

1) sensitive 2) integral 3) specific 4) socioeconomic

The -------—---- of many professions are now able to work in any EC country without
having to take traditional examinations.

1) marketplaces 2) competitors 3) services 4) practitioners

The data was analyzed according to neighborhoods, but other key -----veeee- like credit
rating, job history, saving and marital status were ignored altogether.

1) discounts 2) variables 3) etforts 4) manufacturers

The president blamed the rise in unemployment on the ------------- economic recession.

1) indirect 2) global 3) fake 4) specialized

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2}, (3), or

71-
72-
73-
74-
75-

During the 1980s, many companies began taking a broader perspective of marketing
communication and seeing the need for a more strategic integration of promotional tools. The
decade (71) ~---------- by the rapid development of areas such as sales promotion, direct
marketing, and public relations, (72) --=e-----—- began challenging advertising’s role as
dominant form of marketing communication. These firms began moving toward the process of
integrated marketing communications (IMC), which involves coordinating the various
promotional clements and (73) ---===---- marketing activities that communicate with a firm’s
customers. As marketers embraced the concept of intcgrated marketing communications, they
began asking their ad agencies to coordinate the use of a variety of promotional tools
(74) ---------- relying primarily on media advertising. (75) -----=-==s---- companies also began to
look beyond traditional advertising agencies and use other types of promational specialists to
develop and implement various components of their promotional plans.

1) being characterized 2) characterizing 3) characterized 4) was characterized
1) when 2) where 3) what 4) which

1) another 2) others 3) other 4) onc another

1) rather than 2) rather 3o 4) other than

1) Numbered as 2) Many number 3) A number of 4) The number of
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PART C: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

76-

77-

78-

79-

80-

Passage 1:

An advantage of publicity over other forms of promotions is its credibility. Consumers
generally tend to be less skeptical toward favorable information about a product or service
when it comes from a source they perceive as unbiased. For example, the success (or failure) of
a new movie is often determined by the reviews it receives from film critics, who are viewed
by many movicgoers as objective evaluators. Another advantage of publicity is its low cost,
since the company is not paying for time or space in a mass medium such as TV, radio, or
newspapers, which an organization may incur some costs in developing publicity items or
maintaining a staff to do so, these expenses will be far less than those for the other promotional
programs.

Publicity is not always under the control of an organization and is sometimes unfavorable.
Negative stories about a company and/or its products can be very damaging. For example,
recently the packaged food industry has received a great deal of negative publicity regarding
the nutritional value of their products as well as their marketing practices, particularly to young
people. Companies such as Kraft Food's General Mills, PepsiCo, and others have been the
target of criticism by consumer activists who have argued that these companies contribute to
the obesity problem in the United States by advertising unhealthy foods to children.
McDonald's also had to deal with the negative publicity that was generated by the success of
the documentary film Super Size Me, in which filmmaker Morgan Spurlock chronicled his
decline in health while eating all of his meals at McDonald’s for 30 days in row.

According to the reading what makes publicity superior to other promotional formats is
that ---—---------—-,

1) it is much more easily believed by the audience

2) it is more favorable in terms of appcarance

3) it guarantces much more success

4) it has more credit when administered to the viewers

Based on the information in the reading, in what situation do consumers show skepticism
towards the information they receive?

1) when it receives a lot of reviews 2) when they can easily perceive it
3) when the information is prejudiced 4) when it is favorable about a product
It can be inferred from the reading that -~--------- .

1) companies which use publicity tend to avoid TV commercials

2) publicity does not require any maintenance

3) consumers trust ads which are not very expensive

4) Publicity usually appears in costly advertising media

Why does the author mention the example of General Mills in paragraph 2?

1) To establish that publicity can change a favorable image into an unfavorable one.

2) To emphasize on the unhealthy nature of packaged foods.

3) To compare publicity with promotion.

4) To give an example of the situation when publicity is out of a company’s control.
The word “chronicled” near the end of the second paragraph is closest in meaning to -—--.
1) attributed 2) recorded 3) confirmed 4) overwhelmed
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Passage 2:

Recently there has been concern that some marketers have not been spending enough
money on advertising to allow leading brands to sustain their competitive edge. Advertising
proponents have been calling for companies to protect their brand equity and franchises by
investing more money in advertising instead of costly trade promotions. Some companies,
recognizing the important competitive advantage strong brand provide, have been increasing
their investments in them. Hallmark and McDonald’s are just two of many examples, Hallmark
used tie-ins and product placements in the movie Polar Express, as well as in-theater
advertising and consumer promotions, to go along with their traditional media advertising as
part of its estimated $138 million advertising and promotional budget, in an attempt to enhance
its brand equity. Capital One has also increased its marketing efforts.

Competitors’ marketing programs have a major impact on a firm's marketing strategy,
so they must be analyzed and monitored. The reactions of competitors to a company's
marketing and promotional strategy are also very important. Competitors may cut price,
increase promotional spending, develop new brands, or attack one another through comparative
advertising. One of the more intense competitive rivalries is the battle between Coca-Cola and
Pepsi.

It can be understood from the reading that -----—---—---,

1) marketers nowadays are more costly than efficient

2) marketers tend to advertise for leading brands with strong image

3) nowadays marketers’ main concern is promotion of brands which sell better

4) nowadays marketers, due to financial problems, do not advertise as they are supposed to
According to the reading, supporters of advertising expect marketers to -—-----m---m- .
1) increase brand value in stock market

2) enter investment business and strengthen themselves

3) sustain their competitive edge by investing more money in advertizing

4) call companics which can protect the equity of brands

According to the reading, Hallmark is an example of a company which -----—----- .

1) enjoys the competitive advantage its brand provides

2) has created a strong brand within the shortest time

3) abandoned traditional ads and embarked on modern advertising

4) has recently focused on investing in building a strong brand

According to the reading, Hallmark did all of the following EXCEPT -----—--- .

1) Advertising in movie theaters

2) Selling toys based on cartoon characters

3) Increasing its promotional budget by 138 million dollars

4) Having its products used by actors and actresses

The word “they” in the second paragraph refers to --—--------- .

1) firms 2) programs 3) competitors 4) marketing strategies



86-

87-

88-

89-

90-

AT W) 749C esazs b

Passage 3:

A product is not just a physical object; it is a bundle of benefits or values that satisfies the
needs of consumers. The needs may be purely functional, or they may include social and
psychological benefits. For example, the campaign for Michelin tires stresses the quality built
into Michelin tires (value) as well as their performance and durability (function). The term
product symbolism refers to what a product or brand means to consumers and what they
experience in purchasing and using it. For many products, strong symbolic [eatures and social
and psychological meaning may be more important than functional utility. For example,
designer clothing such as Versace, Gucci, and Prada is often purchased on the basis of its
symbolic meaning and image, particularly by teenagers and young adults. Advertising plays an
important role in developing and maintaining the image of these brands.

Product planning involves decisions not only about the item itself, such as design and
quality, but also about aspects such as service and warranties as well as brand name and
package design. Consumers look beyond the reality of the product and its ingredients. The
product's quality, branding, packaging, and even the company standing behind it all contribute
to consumers' perceptions. In an effective IMC program, advertising, branding, and packaging
arc all designed to portray the product as more than just a bundle of attributes. All are
coordinated to present an image or positioning of the product that extends well beyond its
physical attributes. Think for a minute about the ads for Nike; the product benefits and
attributes are usually not even mentioned --- yet information about the brand is communicated
effectively.

It can be understood from the reading that ------------- .

1) a bundle of benefits is enough to make a product popular

2) a product compriscs of both physical and non-physical attributes

3) products satisfy consumers because they are both functional and psychological

4) physical objects are not always a combination of values

Based on the information in the reading, we can conclude that the good network coverage
by Nokia phones is an example of -—--—----- .

1) value 2) function 3) psychological benetfit ~ 4) bundle benefit
It can be inferred from the reading that functionality -----------,

1) is what consumers seek in strong brands

2) has a direct relationship with symbolic features of a product

3) is generally considered less important than social and psychological meaning

4) refers to the high quality which characterizes a product

Based on the reading we can understand that young people --=----n-nun- .

1) tend to add more symbolic meaning to new brands

2) arc more influenced by symbolic meaning and image of a product

3) encourage advertisers to emphasize on value and function equally

4) are the target of advertisements which highlight functionality

According to the reading, all of the following shape consumers’ perception of products
except -----------um .

1) quality 2) reputation 3) packaging 4) ingredients
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